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Question 1:

wi” 3=

Which compound from the choices has
the least chemical activity?

1-butene
) butanev

2-butene

butyne



Choose the formula presents the following

compound 2-methyl-3-propylcycyobutene
L

CaHy

“_\

H4C
CaHy

“_\

HAC
CiHy

]

HaC
HaC

]

C4H7



Question 3:

Use the IUPAC rules to name the following
formula?

CI‘ H:
CH;CCHCH=CHCHCHj3;

('H; ("H,CH;
2-ethyl-6,6-dimethyl-3-heptene
6-ethyl-2,2-dimethyl-4-heptene

) 2,26-trimethyl-4-octenev

3,3, 7-trimethyl-4-octene



Question 4:

Use the IUPAC rules to name the following
formula?

?HJCHj
(_'H_a(.'E(_'(_'Hi_'H(_'H_q

CH2CH;

) 4-ethyl-5-methyl-2-heptynev
5-ethyl-4-methyl-5-heptyne
4.5-diethyl-2-hexyne
2,3-diethyl-4-hexyne



Question 5;

e T

Which of these properties are not for both
alkenes and alkynes?

non-polar
different electron density
unsaturated hydrocarbons

same physical and chemical
properties



Question 6:

Choose the formula presents the following
compound 2,5-dimethyl-3-hexyne

(;‘ | 3 B
CH;CHC{HCiCCHj
Chs

CH; CH;

~ | | ®

. CH.CHC=CCHCH,CH.

?Hs CH;
|
CH;CHC=CCH-,CHCH:;

(|1H3 (;Hs
CH;:CHC=CCHCH;



Question 7:

Choose the formula that presents the
following compound 2,4-dimethyl-2,4-
hexadiene?

CHiz: CH;

I I
CH:;CHC=CHC=CH;

(I"I-Ij C'Hs;
|
CH;CHCH=CCH=CH;
CHs CHls
(1 I v
CHa CH;
0 | | x

CHC=ChHCH=CCH,



Question 8:

L rrre * |
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Arrange the following compounds
according to electron density?

® @ &)
CH=CHs CH,=CH, CH=CH
D 3>231v
1223
g AR

FRE



Question 9;

1.  Which of these formulas present the
simplest alkene?

GaHa

CsHa

CiHe
D CHuv



Question 10;

~»Core

Based on the properties of alkanes and
alkynes, which of the following is correct?

@ @ &)
alkynes is |alkynes simulate |alkynes has
more polar [the charge of the| boiling
than electronsin point more
alkanes adjacent than
molecules alkanes
symmetrically

0 @ ®@onlyv




